C1401 Tutorial 5

Determine the oxidation number of each of the following elements in the compound
indicated

a) B in B,0O,

b) CinCF,

c) ClinHcCl

d) Pin P40

e) Nin HNOs, HONO;

f) Sin SO,Cl,

g) Nin NxH,

In the following reaction, identify the substance oxidized, the substance reduced, the
oxidizing agent and the reducing agent.

a) 2KMnO; + 5H,C,0;2 + 3H,S04 = 10CO; + K2SO4 + 2MnSO4 + 8H,0

b) Nal + 3HOCI - NalOs + 3HCI

¢) Cu+ 2H,SO4 - CuSO4 + SO, + 2H,0

d) 12+ 10HNOs3 - 2HIO5; + 10NO; + 4H,0

e) Cr,0/% +Fe* > Cr** + Fe?*

Balance the following redox reaction equations.
a) Zn+HNOs; > Zn** +N,

b) H,SO4+ HBr - SO, + Br;

c) MnOg + NO; + > MnO, + NO3’

Complete and balance the following redox equations.

a) Ag'+ AsHs; = Ag + H3AsOs (acidic solution)

b) Br, = BrOs + Br (basic solution)

c) CyHs+ MnOs > Mn?* + CO; (acidic solution)

d) CN +MnO4s - CNO + MnO; (basic solution)

e) PDb(N3), + Cr(MnO4); — Cr,03 + MNO; + Pb304 + NO (in basic solution)



